
TELEVIZE A JEJÍ PUBLIKUM_PRŮBĚŽNÉ HODNOCENÍ
Test Test Test Úkol/výpočetTest Úkol/výpočet

427292 15 15 15 15

414812 15 15 15 10

464699 15 15 15 5 15 15

439703 15 15 15 5

HODNOCENÍ:

A=134+ (105+40)

B=123-133

C=112-122

D=101-111

E=90-100 (70+20)

https://is.muni.cz/auth/ucitel/student_info?fakulta=1423;obdobi=7047;predmet=996601;infouco=427292
https://is.muni.cz/auth/ucitel/student_info?fakulta=1423;obdobi=7047;predmet=996601;infouco=414812
https://is.muni.cz/auth/ucitel/student_info?fakulta=1423;obdobi=7047;predmet=996601;infouco=464699
https://is.muni.cz/auth/ucitel/student_info?fakulta=1423;obdobi=7047;predmet=996601;infouco=439703


Test CELKEM ZÁPOČTOVÝ TEST CELKEM HODNOCENÍ

15 40 115 C

15 20 90 E

15 40 135 A

15 20 85 F


